setid:51358 11 Downloaded From : www.sforstudy.in Computer Operator 21-12-2018 Batch02

Section 1 - Subject01-General Knowledge

1) Under Section 66 of the Information Technology Act
2000, what is the penalty for "computer related offences™
(that is, penetrating a computer system by exploiting a

security vulnerability)?

A) Imprisonment up to one year or/and fine up to
% 300,000

B) Imprisonment up to three years or/and fine up to

% 500,000

C) Imprisonment up to one year or/and fine up to
% 100,000

D) Imprisonment up to six months or/and fine up to
% 300,000

2) In Computer Science, what are the full forms of RAM
and ROM?

A) RAM: Read And Memorised; ROM: Read-Only
Memory

B) RAM: Randomly Add Memory; ROM: Readily Ongoing
Memory

C) RAM: Random Access Memory; ROM: Read-Only
Memory

D) RAM: Random Access Memory; ROM: Read Ongoing
Memory

1) FAAT SRR St 2000 FF €T 66 F Ha, "L
T HTAT Sroerel” (S qReT it Afaeaaaefiear 1 a7 3T
Fee? [freew § warer w3A7) % o e &2 &1 wragm 87

A) TF TT T FF AT/=07 T 300,000 TF T THAT
B) o= &Tet T & AT/30¥ T 500,000 TF FT AT
C) U& 9T &l g FT/37T T 100,000 TF FT ATAT
D) =8 FET #T = 71/ T 300,000 T HT S[HAT

2) Fex s #, RAM 3T ROM & q0i=T 47 § ?

A) RAM: T Uz AHTEse; ROM: fre-aeit aady

B) RAM: =Wl U= #HLY; ROM: Yf2eft siiTrer 3wy
C) RAM: =9 T#® #HT; ROM: fie-3i=ett aady

D) RAM: ¥=& T=a® A9<t, ROM: T sttt audt
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3) When is the World Press Freedom Day observed every  3) Wi a¥, forsa I Farc=rar faas sa w11 1T 87
year?

A) 47
A) 4t May B) 2 s
B) 2nd May C) 57
C) 5 May D) 3¢
D) 3% May

4) If the information pertaining to digital wallet is not stored  4) afx RfSree Ficre & Hafera SFHLT TATHIT BTE S2d |

in local hard drive but in a remote system and connects TURIT A5l §, A [YHIE (oeed § TUgIq g 3 Tavde § =l
with internet, then such kind of digital wallets is known as &, T =0 d¥g & f=fSreat afare i1 FT Fgl 11 g2

A) Middle ware wallet A) Ffes a7 Ffere
B) Server side wallet B) Ha¥ AT Al
C) NFC wallet C) NFC afae

D) Client side wallet

D) FTEe ATE dfele

5) The Bay of Bengal Initiative for Multi-Sectoral Technical — 5) Tg-&1=TT T AT SATHF TSI & F A aTA

and Economic Cooperation is a subregional grouping TiAfouiea Wi Aedi-Haed cfamd U Tl Rl aer
comprising seven countries of South Asia and South East ~ U% 37 et \rgg & forere aferor wfor s zferor o wiomm
Asia. Where is its headquarters? AT 29T AT ) A AT Fet 22

A) Dhaka A) BT

B) New Delhi B) % fawT

C) Kathmandu C) FrzTg

D) Mumbai D) Ha%
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6) Who was the Captain of the Indian Team of the 2018

6) 2018 T=UT & giehl fasa FF T AAT 17 6 FAT HI 4?
Men's Hockey World Cup?

A) fe=ta e
A) Dilip Tirkey B) =¥z fiig
B) Harendra Singh C) wrfia firg
C) Manpreet Singh D) e =t geter

D) SV Sunil

7) What is a Noisy Intermediate Scale Quantum (NISQ) 7) TSt TefifRue = gitew (NISQ) Taheieh 4T g7
technology?

A) T T THRAE STET FTE FHET ATATHF TAAT F o

A) A technology where a computer injects a noise in large AT T F7 F o0 a3 T 9% s o0 F7ar ¢
scale for running algorithms for quantitative
comparison B) wiarsa &t ws aae s sTgf 50 AT 100 Ffea ATl Fiiew

B) A technology of the future where quantum computers jﬁti;jgﬁﬁ st % fefrea W A ST 2T ATt
with 50 to 100 qubits that perform tasks exceeding . s o . .
those of today's digital computers ©) Z—Tﬁmm—jgdé;%;;,?ﬁ%ss TS ST g e 1

C) A technology in use in National Institute of Standard D) FHT STl & AT ST 7 F0 FA T U
. SERIED
and Quality computer

D) A technology for suppressing electromagnetic
interference from all sources

8) Which of the following is linked to 'Kapha' energy as per ~ 8) J4g & ATHTE (AHATIEd | F FHI T FF Fo11 o =T gall

Ayurveda? g7

A) Fire NE

B) Earth and water B) g=AT ¥ aTHT
C) Air and space C) a1y 3T siafeer

D) Moon and Stars D) S&HT ¥ ae
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9) During November 2018, who among the following is/was 9) F&a¥ 2018 & 31T, WA & ST qLEAT TATGHIT

the National Security Advisor of India?

A) Archana Ramasundaram
B) M K Singla

C) Ajit Doval

D) Rajni Kant Misra

10) Who among the following is collectively responsible to

the Lok Sabha and is obliged to resign on losing the
confidence of the Lok Sabha?

A) Chief Ministers of different states
B) Council of Ministers

C) Cabinet Ministers

D) MP's of Rajya Sabha

11) One of the most popular dance dramas of Uttar
Pradesh was inspired by legends of Lord Krishna and
gopis. Which of the following is it?

A) Lavni
B) Kathak
C) Bhangra
D) Raslila

12) Which of the following group of states does Malwa
Plateau spread across?

A) Jammu and Kashmir, Himachal Pradesh and Punjab
B) Gujarat, Rajasthan and Madhya Pradesh
C) Sikkim, Bihar and West Bengal

D) Karnataka, Kerala and Tamil Nadu

FRreferfea & & = g2 2

A) STETT THEETH
B) TH ¥ fERrar
C) srfora Sramer
D) =TT e s

10) Referera § & i AT & I qres 9 § STt
g ST ATHE T AT [T @I 9T SRR & & o0 arey 872

A) fafsre Trsat % gt
B) "#frew
C) Ffaree #afi=t

D) T F gi9a

11) I TR & TIH AHIT A qATeH § F Teh, AT FO0T
ST IO AT fFhadfaat & YT 81 399 8 a8 F19 9187

A) FATaeft
B) FI

C) wireT
D) T

12) FFeforfaa & & %19 & TS31 % 99g § 91941 9517 FaT gar
g2

A) SFE-FHT, BHm= T3er ST usa
B) I[SIXTA, TS 31T HET Tl

C) ffaw, fagr e wfsrw awmer

D) #dTed®, e 3T AT
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13) Which of the following statements is INCORRECT
about GST (Goods and Services Tax)?

A) GST introduced uniform tax structure in the country
B) GST abolished all direct tax levied in the country

C) GST is a last-point retail tax. So, GST is being

collected at the point of sale or point of service

D) GST was rolled out from 1st July 2017

14) In how many years, may a person be legally declared
dead in absentia or legal presumption of death despite the

absence of direct proof of the person's death?

A) 5 years
B) 7 years
C) 4 years
D) 6 years

15) Who among the following invaded India 17 times?

A) Muhammad Ghori
B) Mahmud Ghazni
C) Qutubuddin Aibak
D) lltutmish

16) Which of the following is the subject matter of Article 11
of the Indian Constitution?

A) Uniform civil code for the citizens
B) Organisation of village panchayats
C) Parliament has powers to enact laws on citizenship

D) Protection against arrest and detention in certain cases

13) GST (F%q U =1 #2) & Haeg § (Aerferiera & & i @7
FAT TAT 52

A) GST & 29T § U THTH FT HLI4T a1
B) GST « 29T ¥ T ToTer ¥ I @eq &7 faaT

C) GST T ® &9 aTaT Us et & gl 2aferT GST it
FEEAT TaehT o THT AT TAT 6 THT f 0l ST g

D) GST # g[&sd 1 TS 2017 & g2 ff

14) Toreft =rf<r 6T gog T Tq&T FILAT THTT A1 g 9%, o
ATAT T AT AT FIGAT G 1 TE F T[T IT ARE
FIAT AT 9T Jd AITUT T [&3T STaT 872

A) 5
B) 7 &t
C) 4 7
D) 6 &

15) fFforfea & & free 17 a 9ed 9 gaar Har?

A) HTgHE "I
B) AgHE AT
C) FIIE TaF
D) Teqateer

16) AT HiaeTa  SAq=ax 11 Hf Fug-asg |1 8?

A) ATt 3 form waT A |@fgar
B) T 9STIAT T HITST

C) ATTTERAT UX FHTA a1 6T oTfehat §9a & IT9 8

D) g AT § Feware i Raed & faers e

Page50f52



Setld : 51358 11 Downloaded From : www.sforstudy.in Computer Operator 21-12-2018 Batch02

17) Who has been sworn in as the Chief Minister of 17) 17 f&EaT 2018 FT HEATR F HEIAAT 6 &9 # foha aqr
Madhya Pradesh on the 17t of December 20187 A 82

A) Kamal Nath A) FHA AT

B) Bhupesh Baghel B) sUeT s8I

C) Shivraj Singh Chouhan C) forawrer fig g™

D) Digvijaya Singh D) feRasr foig

18) In which year did Ranchi city become the capital of the ~ 18) Ti=T g% fofe a9 § ATEGEE 15T FiT TISTTHT a7
state of Jharkhand?

A) 2002
A) 2002 B) 1999
B) 1999 C) 2000
C) 2000 D) 2001
D) 2001

19) Which drainage basins are connected to Indus Waters ~ 19) ®1 |7 3T afere f¥ie] st =fer & =7 872
Treaty?

A) TSR, gieamT, Fy, dfemen

A) Fazilka, Hudiara, Kasur, Seleimanske B) q;ﬁ[@m', —érﬁ'qm, T, 'g?,ﬁ'q'gng
B) Fazilka, Hudiara, Kasur, Salimshah C) wirearT, 2, TR, HeAwaTe
C) Fazilka, Harike, Kasur, Salimshah D) WS, g, HE, aaesT

D) Fazilka, Hudiara, Kasur, Sutlez

20) Among the following districts of Uttar Pradesh, which ~ 20) 39< waer & sferfaa et & & & |7 R wrsa % afse

lies to the west of the state? H fera 87
A) Etawah A) Zarar
B) Ballia B) afer
C) Varanasi C) aTeToTHT
D) Deoria D) zafya
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21) Which of the following is expected to be boosted by 21) atrsET = g Aot 8 o B agrEr e i

Project 'Chaman'? IFTE 872

A) Fisheries A) T qTaT
B) Crop Insurance B) wHe T
C) Soil Research C) gt srqeem
D) Horticulture D) STaTHT

22) Which feature of Google allows social media users to

22) TAH | T AT [ BT T HITSIT TTRIRAT I AT
TATATErT o STeTe 9% I Aot Fe 6T e a1 §2

earn income based on their activities?

A) Blogger.com

B) Google Adsense B) T U=HA
C) Orkut.com C) s ge. Fid
D) Google Search D) T[T 5=

23) According to the Constitution of the National Human 23) A & TS ATAATIERTT AN o HIALTT % T,

Rights Commission of India, how many full-time Members 3T & fahae quisTiors daeg 87
does the Commission consist of?

A) =X
A) Four B) ™&TLg
B) Eleven C)
C) Nine D) T
D) Seven

24) "God could not be everywhere and therefore he made ~ 24) “2a% g¥ S9Tg gl 2l Thd AT THCIT Iraid | I4T9T- T8

mothers"- This is a famous saying by which of the following = fwrferfaa wfirg ==aftreat & & e 82 2
personalities?

A) Tt fFawTe
A) Swami Vivekananda B) weATS PSS
B) Rudyard Kipling C) Yo qTeeT THET
C) Ralph Waldo Emerson NEIERIE]

D) Bob Marley
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25) What is the capital of Manipur?

A) Agartala
B) Imphal
C) Shillong
D) Aizwal

26) In 2016, the Summer Olympic Games was hosted by

A) Russia
B) Brazil
C) Japan

D) United Kingdom

25) AU T AT #7872

A) ST
B) T
C) faram
DEIEEIE]

26) 2016 ¥, HH e o TF T HSaT=T e 397 % FIT T
AT off?

A) =9

B) TSI

C) St

D) FATzeT fRrew

27) Who among the following is the first recipient of ‘Param  27) AT¥d H IFAH TI-TZEHTT, ‘TIH AT T% 6 TIH TTHHRAT

Vir Chakra’, the highest gallantry award in India?

A) Major Somnath Sharma
B) Captain Gurbachan Singh Salaria
C) Captain Vikram Batra

D) Second Lieutenant Rama Raghoba Rane

28) Between which countries was the inaugural match of
the 2018 Men's Hockey World Cup played?

A) Argentina and Spain
B) India and South Africa
C) Belgium and Canada
D) England and China

fRrerferfera & & 17 947

A) FSTT GTHATT 99T

B) Fred A= f¥ig Fartar
C) e faaa =7

D) #ve aftade THT Trerar 1o

28) fohe Tt o 1= 2018 T=UT & il fa*d FF FT IgTed =
GAT AT AT?

A) SSTEAT &Y &

B) 9T¥a ¥ aferor sshihT
C) sfesTaH ¥ FTeT
D) veie v fiw
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29) Digital computer works on which of the following
principles?

A) Logical
B) Electric
C) Calculation

D) Measurement

29) fefres Frgex faferiaa # & e g = w1 Fear

30) NEFT is used for Electronic Transfer of Funds between 30) NEFT &T zeaaTer faeft & it armar i et of v ey =<

any bank branch to any individual having an account with
any other bank branch. What is the full form of NEFT?
What is mandatory for NEFT as per RBI?

A) Networked Electronic Funds Transfer, MICR Code
B) Networked Electronic Funds Transfer, IFS Code
C) National Electronic Funds Transfer, MICR Code

D) National Electronic Funds Transfer, IFS Code

31) According to 2011 Census, approximately what percent

of total urban population of India resides in Uttar Pradesh?

A) 4.5

B) 11.8
C) 16.9
D) 21.5

F THTIE * A1 TAFSIAH B STEHL F (o0 FRAT SATaT 8
ST sTaTSe gAY S it ot § grar g1l NEFT &1 927 =9 #47
&7 RBI & s7qame NEFT # form a7 srfears grar 82

A) FeaaE oA %e ZEET, MICR #Te
B) WeaaE TolaIA® g 1w, IFS FIe
C) A9 TorF i g 2TaHY, MICR Fe
D) FeT9d TAFI T He ZHEL, IFS e

31) 2011 it STANVMET % AL, ITAL TG H AT il FeA AT

STEEIT T AT TRt fera awar 872

A) 4.5

B) 11.8
C) 16.9
D) 21.5
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32) What is the goal of LOON project of Google X — an
R&D facility founded by Google?

A) Expanding coverage of Internet connectivity with
stratospheric balloons

B) To create kites that harness wind energy to generate
electricity efficiently from wind

C) An autonomous delivery drone service aiming to
increase access to goods, reduce traffic congestion in

cities, and help ease the CO2 emissions

D) Transforming mobility with self-driving cars

32) T X - T ZIET #ATOq U 97l Ua faswre &%, LOON
IS &1 A& FIT g2

A) FEETEEE a1 WG H TTAS el (F2 AT T T
EGI

B) U Tl T FAHTOT FTAT ST T FsT1 B1 STANT T AT
H TeAqTgE fasreft far v

C) T SAtErrH Sferardt gi At et e g Teqe T
TET T AR, AT | ATATATT HHAAT Hl FH FHIAT T
CO2 & IHSIT H HEE FTAT

D) AeH-STEET 1T o a7 Tirefterar 1 i Fear

33) Which of the following nations and India upgraded their 33) faferfera e & & fohe 391 3fT w2 7 2018 & T4 Hisar

existing Comprehensive Economic Partnership Agreement
(CEPA) in 20187

A) Indonesia
B) South Korea
C) Iceland

D) Taiwan

34) How many districts and divisions is Uttar Pradesh

divided into for the purpose of administration?

A) 45 Districts and 9 Divisions

B) 75 Districts and 18 Divisions
C) 65 Districts and 28 Divisions
D) 79 Districts and 10 Divisions

FITPIR R T i qreaeforT snfidiz (CEPA) T 39ie
a2

34) w9mEe F 3297 * forw 397 w=er fohaer et sie w9 &
EEUEGEA

A) 45 5t T 9 o
B) 75 et i 18 w9
C) 65 fSret T 28 T
D) 79 fSrer 3T 10 womr

Pagel00f52



Setd : 51358 _11 Downloaded From : www.sforstudy.in

Computer Operator 21-12-2018 Batch02

35) Based on Census 2011, which of the following states or 35) 2011 SIRTUHT & T I¥, AT & (HEforiad § & ®id &7

union territories of India has the lowest population?

A) Chandigarh

B) Sikkim

C) Lakshadweep

D) Arunachal Pradesh

36) What are Awadhi, Kannauji, Bundeli and Bagheli of
Uttar Pradesh?

A) Animal fairs
B) Dialects of Hindi language
C) Delicious Mughal cuisines

D) Traditional dance forms

37) A popular form of activity for businesses and

individuals to increase hits on their websites is SEO. What
is the full form of SEO?

A) Search Engine Optimization
B) Security Embedded in Organization
C) Search Embedded Optimization

D) Site Engine Optimization

38) Which Committee recommended discontinuance of a
separate Railway Budget?

A) Committee headed by Shri Arvind Panagariya
B) Committee headed by Shri Suresh Prabhu
C) Committee headed by Shri Arvind Subramanian

D) Committee headed by Shri Bibek Debroy

T[T AT g AT TR H T FH TAHEAT 82

A) FE1E
B) farfam
C) &g

D) ST=UIT=el Ta9r

36) I T T T, FHTSI, oAt S oAt FT 872

A) T HA

B) &t wrur it arferat
C) waTfa® qIaTs 55
D) e o7 =

37) ATAATIIF ST AT &< X AT dadTee 92 geq aa
& forw y=fera fafater SEO Fgardt gl SEO T Iu &9 4T 87

A) 9 SR AR
B) et mrass = sififareded
C) o+ UraTT ATHAIAT
D) #TEe o sicdAaerT

38) o \fUfa & Yoa a7 FT ST JATT T ¥ sqeram hir?

A) =t sefaT IARTTaT Fi stegeqar arett qiefT
B) =ft =¥er Wy it sregeqar ATAT AiATT

C) #t srefaT gamforaw £ syexerdr areft afafa
D) =t faras Ta<ia &t sreaerar aret afafa
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39) To address consumer queries on digital payments, 39) FefSreet swraTT U= SUHTHTSAT & F=AT & ST o & o,
which toll-free helpline number did the Government of India TXd HYHT 7 2017 & T3 ST-ThT SETATSH FaY T {[EATT HI7?
launch in 20177
A) 109
A) 109 B) 911
B) 911 C) 14444
C) 14444 D) 18888
D) 18888

40) The US Holocaust Memorial Museum rescinded the 40) US grarhiee qHITAS SR 7 2012 # Bt amae &
prestigious Elie Wiesel Award granted in 2012 to an author. e T gfate et foer sreme faveq e faam) = < st

Identify the author's book from the list below. s ki w7 il
A) T F1F T hieH

A) Long walk to Freedom
B) & afeH i hieH

B) A Voice of Freedom )
C) Tr= g hrew

C) Road to Freedom

D) Sl i 6

D) Freedom from Fear
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Section 2 - Subject02-Mental Ability

41) Directions: In the following figure, circle represents
literate, bigger rectangle represents healthy and smaller
rectangle represents rich people. Answer the question that

follows:

Which of the following is NOT correct?

A) None of the options

B) To be rich, one must be literate.
C) To be rich, one must be healthy.
D) All rich are healthy and literate.

42) A statement followed by two assumptions are given
below. Select the assumption(s) from the options which is
implicit in the statement.

Select

(A) If only assumption (i) is implicit

(B) If only assumption (ii) is implicit

(C) If both (i) and (ii) are implicit

(D) If neither (i) nor (ii) is implicit

Statement: Some employees at Macrosoft are hardworking
Assumptions:

i) Miranda is working for Macrosoft

i) Samanta got the best employee award at Macrosoft

41) foger: 57 sl , 37 Aveqan & g9tar g, 97 sraq
T 3T Gy A FAHIE AN 67 gfafA e FdT 21
frferfaa w1 39e &

Fraforf 3 & 1 a7 T 7 32

A) faseat & & #1E 781

B) sHi¥ g1  forw, =i &1 |1ere [T AR
C) s1¥i= gi=  form, =xfxp &t T graT AT Ul
D) 7T srfiT T Siie A7e17 2

42) = 2w T For F A &7 ey & wE 2 R e
T | IH LTI T AT F4 S FA7 H siqHi2d 2l

K8

(A) 3T et orT (i) saffea &

(B) 3T Faet €T (if) saf<iiad &

(C) =z T=T (i) 3T (ii) siafifed &

(D) =t 7 &7 (i) =T 7 2 (i) safiRa g

FAT: FATEITE & T FHATL HgAdl gl
CIERIE Rt

i) Tt Friee 3 forg e w2
ii) FTHAT T TFh % § TS FHATL AT [ERT AT
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A) B
B) C
C) D
D) A

43) A rat runs 20 metres towards East and turns to right
and runs 10 metres. Then it turns to right and runs 9
metres. Again it turns to right and runs 5 metres. After this
it turns to left and runs 12 metres and finally it turns to right

and runs 6 metres. Now the rat is facing towards

A) East
B) West
C) North
D) South

44) If | give you one more Apple, you will have twice as
many apples as mangoes. If | give you one more Mango,
you will have the same number of Apples and Mangoes.

How many Apples do you have?

A) 4
B) 6
C) 5
D) 3

43) UF 92T I3 #iT T 20 Hiew =1 g o7 e a1e e g2
ST 8 & 10 Hiex giar 81 fhe 9 318 i qear € i 9 Hiex
=T 81 98 ST aTE A g1 2 Y 5 Hie di2ar g1 T
T2 9 912 A G247 ¢ A7 12 e drgar g i siq # ag ard
AT q=AT ¢ 3T 6 Wiex Frear g o9 a8 =&7 e fEar & o7 w@1
22

A) T

B) ufas
C) S¥
D) =feror

44) 3T | ATTHN UF ¥ T IqT g, qT AT I AHT T IR
TS g SO 3 # ST U ST 3T/ AT g, ar e 979 §a
SIY ST HHTT H&AT | g1 S0 39 979 fohae &9 872

A) 4
B) 6
C) 5
D) 3
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45) On what shaped terrain should 4 equally sized trees be

arranged so that they are all equidistant from each other?

A) Square
B) Rhombus
C) Right triangular pyramid

D) Right circular cone

46) A statement followed by two assumptions are given
below. Select the assumption(s) from the options which is
implicit in the statement.

Select

(A\) If only assumption (i) is implicit

(B) If only assumption (ii) is implicit

(C) If both (i) and (ii) are implicit

(D) If neither (i) nor (ii) is implicit

Statement: Lecturers advice students to study every day
Assumptions:
i) Students do not study every day

ii) It's the duty of the lecturer to advice

o= 2
O > @ O

47) If ‘- means ‘X, X' means ‘+’, ‘+’ means ‘+’ and ‘+’

means ‘-’, then the value of 13-12+4x6+2 is

A) 29
B) 47
C) 155
D) 32

45) T3 ST & & | 4 THIT AR F U 36 qE o0 ST
AT HT o FHT TH-gAL T TLaY T T G172

A) T

B) #rH=qds

C) @w Brarofi e
D) oF g7 &F

46) 1= faU 10 o & 972 <7 A0 & T2 g1 e w fEswent
H T I LTIOT T 949 FL S HI9 | Aq=rad gl

4

(A) 3T e €T (i) dafied g

(B) 3TT &t €T (ii) siAfed &

(C) =fz amT (i) 3 (ii) Wﬁ%ﬁ%

(D) =t 7 47 (i) 3T 7 2 (i) siaf+Ra g

FA: TTLATTF AT HT L (27 T FIA 6T TATg o 2

CIEUIILEH
i) B 2% foe sremae gt 99 2l
ii) FTE AT TTLATIF T Fd =T Bl

A) D
B) B
C)A
D) C

A7) T AT & K, X HTHAA F H, AT A F
x+'aﬁrwg‘_',;ﬁ-13-12+4X6+23h—|'1:|'|_"|'3|'|_<|'5i§| gq?

A) 29
B) 47
C) 155
D) 32

Pagel50f52



Setld : 51358_11

Downloaded From : www.sforstudy.in

Computer Operator 21-12-2018 Batch02

48) G walks 20 km towards North. He turns left and walks
40 km. He again turns left and walks 20 km. Finally he
moves 20 km after turning to the left. How far is he from his

starting position?

A) 30 km
B) 20 km
C) 60 km
D) 50 km

49) A word with letters jumbled have been given. Choose
the correct order of letters which are required to form the

correct word.
Jumbled word: ANTCE

A)1,4,3,5,2

)

B)21,4,3,5

C)1,4,3,2,5
)

D)5,2,1,4,3

50) The next term in the series 69.4, 347, 1388, 4164,
8328, is

A) 4298
B) 6432
C) 16782
D) 8328

48) G 3T Fi &AT 20 km FqT g E TS AT AT g < 40
km =dT g1 a8 q9: a7 oY {27 g 37T 20 km =aT g1 d &
T TS A G F a18 20 km FdT Z1 T AT I

=T | foraet g a7 82

A) 30 km
B) 20 km
C) 60 km
D) 50 km

49) AT TN ATAT Ueh 9T5x QAT AT g1 &AL F UH Tat
FH T FAT F (STvg STSHT Tl 9058 TATAT ST Hehl
Ferafeaa o=z ANTCE

A)1,4,3,5,2
B)2,1,4,3,5
C)1,4,38,2,5
D)5,2,1,4,3

50) J@=T 69.4, 347, 1388, 4164, 8328, H ST §E&AT 8

A) 4298
B) 6432
C) 16782
D) 8328
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51) A invests 40% of his monthly savings in fixed deposits.  51) A sT9=T HTFEE T=d T 40% FTATE STHT | Harer w1 g
25% of the rest of his savings is invested in stocks and the &I F=@ FT 25% =71 ¥ feaer o SITaT 2 &7 a=t g2 T A
rest goes into A’s savings bank account. If the total amount oo S GTd 6 ST ) AT T | SHe G ST A T A
deposited by him in the stocks is Rs 28500, then A’s total «Tfer %.28500 %’ a1 o= o @Td # A F K e F= fohat

monthly savings in saving bank account is =fT?

A) Rs.75600 A) ¥.75600
B) Rs.15900 B) ¥.15900
C) Rs.85500 C) .85500
D) Rs.45700 D) ¥.45700

52) Four options are given below. One of the four options ~ 52) 1= =< farseq AT 10 81 =< & & foreft us fBerew &1

can't be formed by using the alphabets of the word famtor, ersg BREAKING & 31e1%1 § T a=TaT ST 96Tl 98 UHh
BREAKING. Find that one word. 9re% ST )

A) KING A) KING

C) BRISK C) BRISK

D) BRAKE D) BRAKE

Direction for Questions 53 — 54: Direction for Questions 53 — 54:
The following pie charts show the production of shirts of ferfera 912 = a1 Fuf=ai A e B # fafss wust % o &1
different materials in two companies A and B. SeATE T=INT Fd )

Company A Company B

Company A Company B

polyster
polyster
cotton
polyster, 24%
polyster, 24% cotton

£ “ | lsitk,21%
\ | sik21% ‘ / cotton, 63%
/ cotton, 63% ;

silk, 44%
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53) If company A produces twice the total number of shirts ~ 53) < FT A FOAT B it TAAT H €T T Fef H&AT T I<ATaA

than that of company B, then the ratio of number of cotton ~ ZR[AT AT g AT FAAT A FTT AT 912 T FHEAT 3 Foet B Z1=T
shirts by company A to the number of polyester shirts by qferTees orE i HEAT AT ATITT ZI
company B is

A) 5:4 A) 5:4
B) 4:1 B) 4:1
C)1:2 C) 1:2
D) 3:1 D) 3:1
54) If company B produces 3040 polyester shirts how many 54) 3R &9+t B, 3040 wiferuees orE aaTdt 8 a1 7g ot ot
cotton shirts does it produce? 9TE FATUA?
A) 11970 A) 11970
B) 7894 B) 7894
C) 9785 C) 9785
D) 12478 D) 12478

55) Select one of the following four options that will make  55) fRwferfera =me fsedt & & U= &1 === F3 ST gL ST A

the second pair analogous to the first pair given as: TEAT SITET o TET JAT T
Man : Uncle :: Woman : : TE © 3 o AT

A) Sister-in-law A) g

B) Neighbour B) w=THT

C) Nephew C) weftstr

D) Brother-in-law D) Ta%
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56) Directions: A statement followed by two arguments
numbered (i) and (ii) are given below. Select an option to
decide which of the given arguments is strong and which

argument is weak in respect to the statement.

Statement: Is it necessary to connect all the remote places
within a country by roads?

Arguments:

(i) Yes. This is the convenient way to enable people from
different parts of countries reach anywhere within the
country

(ii) No. Connecting different remote places by roads can

disturb the peace of villages within the country

A) Neither argument (i) nor argument (ii) is strong
B) Both arguments (i) and (ii) are strong
C) Only argument (i) is strong

D) Only argument (ii) is strong

57) At an election a candidate secures 57% votes and he
wins over other candidates by 6524 votes. If there are only

two candidates, how many votes does the winner get?

A) 40076
B) 46600
C) 20038
D) 26562

56) a9 w1 § U FAT % I & T (<0 0 8 5 (i) 377 (i)
TEI 3T A7 81 T T A o o v e wr =wuq w1
30 0 Ot § § FAF F G § I G7 T A9 g ST R
T TF FASE 2

FA: FAT TEFT T 297 F oia? Tt eI TIET AT SISAT A&

£?

S

(i) =, zert % fafers Reat & et & 3o % frae #:2f off o=
T Tg rAGTSAH TLHT g

(ii) Y, Tl grer FAtSe gEes Tt A e F 397 F faw
AT ¥ erita T 6T RAT ST Hear 2

A) T T T (i) T T 5 T (i) A ©
B) IET @ (i) 3 (ii) 7o19d &

C) Fad T (i) 19d &

D) Fae d% (i) A9 &

57) U FATd § UF SFHIEATE 57% AT ITH FdT ¢ 31 a8 97T
ITHTEAT & 6524 FTl & S{adT gl T Fad af IFHIear &, ar
Rrae arer setEa #i1 fha e fer?

A) 40076
B) 46600
C) 20038
D) 26562
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58) The missing term in the series 20.6, 16, 22.9, ,
252, 114is

A) 30.32
B) 11.2
C) 22.18
D) 13.7

59) Choose the alternative which closely resembles the

mirror image of the given combination. WILD7LIFE2

A) S3LIaviw

B) £344nadivw

C

)
)
) S3IUVaIwW
)

D) <3anadnw

60) Select one of the following four options that will make

the second pair analogous to the first pair given as:

Atacama : Desert :: Antarctica :

A) Ocean
B) Cold desert
C) Continent

D) Plain

58) g@=T 20.6, 16, 22.9, , 25.2, 11.4 ¥ SIqufed €A1 §

A) 30.32
B) 11.2
C) 22.18
D) 13.7

59) T fasred T =9 F< off fAU 0 Hrere F g9ur wiafda 7
Herar-s[erar 82 WILD7LIFE2

A) <334avidw
B) £33NVAIIW

C) S3inadw
D) £391vadtiw

60) e =TT et ® | U T 939 Y S o @ Sy A
TEeAT SIS % SIqET a7 <

FSTRTAT: LT o; SR i

A) ETTT
B) ¢ffa w&eae

C) HgTgIT

D) TrHae &t
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Section 3 - Subject02-Reasoning

61) A chart is given here. Using this chart choose the
alternative which resembles most closely the mirror-image
of the string PEACOCKO.

Mirror Mirror
Letters Letters Numbers
Images Images Images

A V N M 1 *
B O O O 2 @
C U P Q 3 &
D | Q P

4 96
E F R S

5 #
F E S R

6 !
G E T |

7 L
H N ] U

8 B
| H \ \Y

9 P
J P w M

0 ?
K V X X
L P Y
M N Z

A) QFPUOUV?
B) QFVUOUV?
C) QEUUOUV?
D) QFVUOOF?

62) If A denotes ‘+’, B denotes ‘-’, C denotes ‘+’, D denotes

‘x’, then which of the following statements is true?

A) 40B6A10C5D3=18
B) 80C10B6A5D1=7
C) 60D20A8B4C4=127
D) 30A5B6D8C2=41

61) Tl U AT 3T AT g1 37 ATE FT ITAN Fd g0 3H
frseT %71 =79 F¥ ST PEACOCKO 7 3 gdur-gfafarer
& Had fAehe famar 8

AV N M 1 -
B O o o 2 @
c U P Q 3 &
D | Q P

4 96
E F R S

5 #
F E S R

6 !
G E T |

7 L
H N u u

8 B
| H VARV

9 P
J P WM

0 2
K V X X
L P Y
M N z

A) QFPUOUV?
B) QFVUOUV?
C) QEUUOUV?
D) QFVUOOF?

62) Iz AT ord + &, BAT 9f 0 3, C 9+ 3, D A7 9
" &, Fraferf & & Fi AT F w22

A) 40B6A10C5D3=18
B) 80C10B6A5D1=7
C) 60D20A8B4C4=127
D) 30A5B6D8C2=41
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63) The next term in the series 729, 5/3, 243, 5, 81, 15, 27,
45, 9, is

A) 90
B) 75
C) 105
D) 135

64) Which of the following statements can be used to take

a decision on this problem: Is P a three digit number?

A) P is a perfect cube
B) P is less than 1000

C) P is more than 100

)
)
)
)

D) Problem cannot be solved

65) Select one of the following four options that will make

the second pair analogous to the first pair given as:

SECOND : 195315144 :: CHAT : ?

A) 56120
B) 48564
C) 63123
D) 38120

63) =@ 729, 5/3, 243, 5, 81, 15,27,45,9, & T
HEAT

A) 90

B) 75

C) 105

D) 135

64) 1 & T 19 AT FAF =7 9T 9 [HoiT o= F forw
TEAHTS TRAT ST a1 & FAT P 1 (i ol G787

A) P TF 01 57 7
B) P 1000 & %% &
C) P 100 & srfarer &

D) IHEAT 8 gl sl AT Tl &

65) fwrfertera =TT et ® & U 7 F99 FY ST gEL ST Al
TEAT SITET o FHET SATI:

SECOND : 195315144 :: CHAT : ?

A) 56120
B) 48564
C) 63123
D) 38120
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66) If Z=Y=W>R and R=K, then which of the following
relations will be false?

66) Tfx Z=Y=W>R 3fi¥ R<K, qT wforfaa & & #i= a7 "

T &2
A) K<R A) K<R
B) Z>R B) Z>R
C) Z=W C) Z=W
D) Y>R D) Y>R

67) If PQ=R, A>C,C=D, F>D then which of the following

67) afz P=Q=R, A>C,C=D, F>D q1 fa=forfea & & & &7
relations will be false?

Teer TAd g2
A) F>C A) F>C
B) A<D B) A<D
C) PR C) P=R
D) Cannot be determined D) fRraffia 7t o S ahar 2

68) Which of these terms is NOT similar to others in

68) T2 T 9=F & | I AT UF AT (FIeAAE) Tl AT T&AT
respect to unique number of consonants in the given word? = Hael | THY 9&1 & HHTH A=l 87

A) OTHER A) OTHER
B) STYLE B) STYLE
C) WRITTEN C) WRITTEN
D) FINALIZE D) FINALIZE

69) In a reunion party, each guest shook hands with all the  69) T qATHT Il |, 3% UF ATATY 7 Fiaqe T a1< THT
other persons only once. The total number of handshakes 37 =TT % &1 g1 THaATAT, BT AT #T F1 G&AT 1540

is 1540. How many persons are there in the party? g1 aret | fohae =af<r €2
A) 70 A) 70
B) 42 B) 42
C) 56 C) 56
D) 28 D) 28
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70) 26 letters of the alphabetical series are arranged in two ~ 70) FUTHTAT @A F 26 AT &l T drdl | ateda fBam
rows, each containing 13 alphabets according to the STTAT 8, Tedsh | FUHTAT @ % Aqae 13 Furerar g1 & w
alphabetical series. The letters in which of these options,  fasedi & & FI7 & &A% T e ¥ Peft T It 872

on joining makes a straight line?

A) DGJM

A) DGJM B) PESG

B) PESG C) SVXM

C) SVXM D) CEGV

D) CEGV

71) Find the odd one out. 71) e g 51q Y

A) Bacopa A) FFHMAT

B) Gharial B) =T

C) Vinca C) fa=r

D) Begonia D) sTrfeem
72) P speaks truth in 60 percent of the cases while Q 72) P 60 Wierd ATHaAT § T SdT g, Stath Q 70 Siaerd
speaks truth in 70 percent of cases. In what percentage of ~ ATHHT | &= SeqT g fohas Tfqerd ATHAAT H, T TH AL % IAC
cases, are they likely to contradict each other? AT 872
A) 40 percent A) 40 wfaera

B) 46 percent B) 46 wfaera
C) 54 percent C) 54 wfaera
D) 30 percent D) 30 wfaera

Page240f52



Set Id : 51358_11 Downloaded From : www.sforstudy.in Computer Operator 21-12-2018 Batch02

73) Which picture is different from other pictures in the 73) F1= faw T srRta & | 9 |7 =y o A @ e g2

figure given below?

1 2 3 4
1 2 3 <
A) 3
A) 3 B) 4
B) 4 C)2
C)2 D) 1

D) 1

74) How many rectangles are there in the following figure?  74) fMwferfera = & fraw s (W) 82

Y N
2\ | 2\ |
NN\ NN\
A) 15 A) 15
B) 18 B) 18
C) 20 C) 20
D) 23 D) 23
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75) Among the given triad of terms, identify the triad in 75) faU 0 19 91T | &, I A7 0 TgATH HE SEH 98 UE
which the terms are similar to each other. TEL F THIT &7

A) 36 -64 - 100 A) 36 -64 - 100

B) 49-81-111 B) 49 -81-111

C)45-64 - 81 C)45-64 - 81

D) 04-09-11 D) 04 -09 - 11

76) P, Q, R and S each have 120 marbles. P gave one fifth 76) P, Q, R 3lI¥ S Ye & uT" 120 &= gl P 7 319+ &= § &
of his marbles to S, and Q gave one fourth of his marbles & Ti=aT 26T S F {37 3T Q 7 31U+ F=1 | ¥ UH ATATS
to R. If each of them throws 20 marbles, then how many of f2&aT R &1 ¥ faam| 37 39/ & o+ 20 F % 3 g, a7 399

them will have less than 80 marbles? o TRl % 9Te 80 § FH Fo gIT?
A) 2 A) 2
B) 0 B) 0
C)3 C)3
D) 1 D) 1

77) The average marks of three sections of Class Xl with ~ 77) F&T XI % == 3t % Tl it §&47 60, 48 3w 52 &, oee

60, 48 and 52 students are 60, 75 and 80 respectively. ST 3 FHT: 60, 75 i 80 &1 7t FTAT F a3tk FAT
What would be the average marks of all the students? ghr?

A) 64.9 A) 64.9

B) 52.83 B) 52.83

C) 66 C) 66

D) 71 D) 71
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78) Identify the odd one out that does NOT satisfy the

property: One more than a perfect Cube

A) 9262
B) 1332
C) 8001
D) 1727

79) Referring to Shilpa, Asima said, “She is the only
daughter-in-law of the paternal grandmother of my father’s

only son.” How is Shilpa related to Asima?

A) Aunty

B) Sister

C) Mother
D) Daughter

80) How many white coloured hexagons are there in the

given figure?

A) 44
B) 66
C) 76
D) 55

78) T T3 7 T ST T O G TE AT U
T & FATT

A) 9262

B) 1332

C) 8001

D) 1727

79) feaT it ST FeRT FA g, FAEHHAT 7 F2T, "qg A AT+
THATT o il ITal il THATdT ag g1" FOredT s 6t 7T TRt
g7

A) =TT
B) @&

C) wrar
D) &t

80) 7 et # P wi6w 447 3 wrA 27

A) 44
B) 66
C) 76
D) 55
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81) Which of the following windows utility is used to display 81) fRwferfea & & frer faeter gfeferdt &1 ST sroer sFegex
foreay u% 3T, Wieed 3% wreal &7 Teidha & ¥ foro

the Drives, folders and files on your computer system?

STt 872
A) Windows Explorer
B) MS-Notepad A) fores THTART
C) MS-Explorer B) MS-Arete
D) Internet Explorer C) MS-TaTAY
D) g2 THFTIT

82) Which of the following is an output device?

82) Marferferd # & &1 |7 UF ar3eye fearsd g2

A) Joystick A) SitafEe®
B) Plotter B) wfex
C) Light Pen C) @z 9=
D) Bar Code Reader D) s =T
83) Find the expression from the table given below: 83) = & S Tae F AT Gl
ab 0o 1 11 10 ab 00 01 11 10
cd 1 1 1 1 cd 1 1 1 1
1 1
1 1 1 1 1 1
1 1 1 1 1 1 1 1
A) ad+d+d A) acd+db+d

B) acd +ab+d

C) awd+ab+d

D) acd+d+d

B) acd +ab+d
C) acd+ab+d

D) acd+ab+d
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84) In a Queue, an end at which new elements are added

84) UF Y % UF d § Tl ¢ AU UleHE TS S &, o = 4

is known as STTET ST 87
A) Top A) =fT

B) Rear B) &

C) Bottom C) aiieq

D) Front D) e

85) Number of functions realizable using n boolean 85) n Foraa F(ANTA) FT ITANT T FohadT HeaT § Feareid

variable is: o R ST T 82
A) 2n+1 A) 2n+1

B) n2 B) n2

C) 22n C) 22n

D) 2n D) 2n

86) What will be the highest index of the array if N is the 86) T T IFAH AFH FAT g1 Tl § 3 N, 3 | Teal &r
total number of elements in the array?

T TEAT 572
A) N A) N
B) N +1 B) N+ 1
C)N-2 C)N-2
D)N-1 D) N -1

87) Which of the following commands is used to remove

87) fareft farfore soermrerat ar gfeeT & frerarfasrt i gere &
foro Referfaa & & e woie &1 9T T smar 22

privileges from a specific user or role?

A) Reassign

A) Trerare
B) Remove B) =
C) Revoke C) frar+
D) Reserve D) fisra
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88) How many pins does a HDMI type A connector have?  88) T& HDMI 2129 A T § foha+ foe gra g2

A) 18

A) 18
B) 19 B) 19
C) 25 C) 25
D) 20 D) 20

89) Name the process involved in the designing of a circuit  89) U= &fFe F RSTeH Fxa # oA 37 IhaT AT ATH FAT

that matches the memory requirement of microprocessor ST ATSAHIMTEET IiAe fHwe it FHE AT9TFHAT F HA @TAT 52
unit signal?

A) T
A) Cache B) srfaufea
B) Associative C) aga
C) Virtual D) Tk 3T
D) Interfacing
90) Which symbol is used for flow of control? 90) AT AT FHarel & forw Foher foreg &1 STt o e 87
A) Arrow A) diT
B) Dashed arrow B) Sk AT
C) Dotted arrow C) g i
D) Line D) @
91) Which of the following Boolean algebra statement 91) Ruferfea & & e a1 giera fswioa Faw Fegetea
represents commutative law? e =1 _sfuT #war 872
A) A+A'B=A+B A) A+A'B=A+B
B) A+B=B+A B) A+B=B+A
C) A+tA=A C) A+A=A
D) A'+B'=A+B D) A'+B'=A+B
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92) Stacks and queues are: 92) T&F T FL FT &2

A) Primitive data structures A) Frfafes a1 T

B) Data types B) a1 &

C) Non-linear data structures C) At7 fiffax Tt w=a=d
D) Non-primitive data structures D) witw ffafes 21 w=ame
93) Which of the following is a type of optical media? 93) fwforfaa & & 19 17 U Afftasdher H=AT 1 UF THE g2
i. CD i. CD
i. DVD i. DVD
iii. Blu-ray iii. Fc:[—%

A) ii and iii only A) = ii A i

B) i and iii only B) 3rarer i 1 i

C) i, ii and iii C) i, ii 3T iii

D) i and ii only D) &<t i 3 i

94) Which of the following sequence is correct for memory  94) THT F TTHS § THEHT A9 a9 F %L gad &7 7fa F

in terms of its speed from fastest to slowest? gead | Fefated § & #19 a1 o q# 7 95t 872
A) Primary Memory -> Secondary Memory -> Cache A) ITEHET HHET -> Hhe<T HHRT -> T HHRT
Memory

B) Hehe<T AT -> TTSHLT HHILT -> el HHT
C) her HHILT -> YTSHLT FHIET -> FehedT HHT
D) eT HHIE -> Hhedl AT -> YTSHLT FHET

B) Secondary Memory -> Primary Memory -> Cache
Memory

C) Cache Memory -> Primary Memory -> Secondary

Memory

D) Cache Memory -> Secondary Memory -> Primary
Memory
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95) What is the value of [A(C" + D]+ BE |t A=B=C=1
and D=E=07?

A) 1
B) 2
C)3
D)0

96) If you enter the formula "=SUM(A1:A4)" in cell A5, it

would:
e o] 5o B
50
(100
1150
1200

A I !Total

= (LIRS | —

A) Throw an error message because text values cannot
be added. Note that the numbers are left justified

instead of right justified

B) Display the result, but will be of junk value as it adds

the ascii value instead of the numerical value
C) Display the average of all numbers from A1 to A4

D) Display the correct sum of all numbers from A1 to A4

97) What will be the output of the following command?
$ cd

A) Returns to home directory
B) Returns to parent directory
C) Returns to root directory

D) Returns to child directory

95) [AC + D))+ BE a7 ey e 2o, afX A=B=C=1 siiw
D=E=0?

96) 7T T A5 AT & HTHAT "= SUM (A1:A4)" U 7 &, T
FAT ZRIT?
‘ A | B
50
1100
{150
200

5 I !Total

A) Tg U UT HHS T FHI{h Saea HIAT T STET Agl ST
THRAT 81 €919 & T G=ATT JTU SEETHIES 6 a0

B) =g afurmw wafsta v, sifeh oIg Sish |19 7 g TR
g HEATHE AT & a(1T ascii A9 SIE T

C) A1 A4 T o aft gearsit =1 siea wefdha wam

D) A1 & A4 T o o+t deasti &1 @gt 7T watdha s

= LA RS —

97) Mot FHTE T SIS FAT TR?
$ cd

A) T AT § Aot
B) T el § arasft
C) &< ST | aTaeft
D) =Teee TV | aTTeT
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98) Identify the following window

11 Mirosett Bxcel - XPO.. @ 1P-Office - Miosaft .,

98) fawferfara fa=t 1 wg=m

A) Task Bar
B) Title Bar
C) Status Bar
D) Start Menu

B1 oosoft excdl - 190 @] 1P-Office -Mrosaft .,

A) TTEF T
B) ZTged aTX
C) ¥e=d T
D) = &

99) What is the value of A8 L)+ 1 1 Ap=p=02

99) (4B+D)+ IEFFHWﬁFFIT'@'ﬂT, 7fs A=B=D=0?

A) 0 always A) gH9T 0

B) 1 always B) gHaIT 1

C) 1 sometimes C) ¥t weft 1

D) 0 sometimes D) FdT #+ft 0

100) Secondary storage is which type of memory? 100) FhST TS fohe TRt it AR 82
A) Non-volatile memory A) AtA-ATeleTE FHIET

B) Virtual memory B) a=aTer HHILT
C) Volatile memory C) arerarser JHEY
D) Cache memory D) her ¥

101) What should be clubbed together in K-maps for
getting reduced expression in SOP form?

A) Adjacent 1's and crossed 0's
B) O's
C) Adjacent O's and crossed 1's

D) 1's

101) SOP iH H THFHT A% ATH Fd & o0 K- # Foreanr
T T Feqal T ST =i u?

A) sESTEe 1's 3T FiEE 0's
B) O's
C) =iz O's 30T F 1 1's
D) 1's
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102) Which of the following is NOT considered as an entity 102) ZeT Aiefer § Faforfad § & & UF Ufedt & &9 § 981

in data modeling? HTAT 7T 872
A) Employee A) FETE
B) Speed B) wfar

C) Cars C) &T¥

D) Books D) T

103) Simplify

B B 103)Z=AB+ABC+EB+A§C F1 T
Z =AB+ ABC + AR + ABC

A) B+AC
A) B+AC e
p— B) ABC

B) ABC

C) ABC
C) ABC

D) A+BC
D) A+BC

104) In which of the following notation the operator comes 104) fA=rferfea & & e Aree™ § sfues a7 Afa¥e & = arar

between the two operands? g7

A) Postfix Expression A) Tt TR

B) Infix Expression B) s T

C) Prefix Expression C) Wt T =/ e ve

D) Priority Expression D) yafET masae

105) Which topology uses multipoint connection? 105) o TS § Ao vaTse FHeldele FT TART 2ram 872
A) Star A) =X

B) Ethernet B) Ta%Ae

C) Bus C)=w

D) Mesh D) #er
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106) Adding an element to the stack means:

A) Removing elements from the stack
B) Placing an element at the front end
C) Placing an element at the rear end

D) Placing an element at the top

107) Which of the following allows remote workers to have
secure access to their organization's network while using a
public telecommunication infrastructure, such as the

Internet?

A) Intrusion detection system
B) VPN

C) Wingate

D) Shoulder surfing

108) What is the significance of the dialog box shown in

the following picture with respect to a MS - Word

document?
XXXX P
Find Replace I GoTo ]
Find what: [ =1
Replace with: | v
More ¥ I I Cancel I

A) Delete Selected Text
B) Finding the Text

C) Replacing Text

D) Find and Replace Text

106) ¥ F | T TfTHe & ST & HaAd gral &

A) T&F T Uferde AT ga™T

B) The U § U UferHe &l T@AT
C) W U ¥ U UfcTHe T T&HT
D) ¢frf 9% ue uferdz &t waar

107) =7 & T G gL ATHHT HT Zede JHT qrasi=H
TLHATE AT HAATSAT T ITANT FL THT T ST o
e qF AT Tgd it FAgT TITT Far a?

A) Tz Rewe ffeew

B) VPN

C) farire

D) eTre= |

108) MS-a% StFyHe F Hag # fAwfortea e # famm o
TTAANT FF T FAT Hgd 52

XXXX Rx
Find Replace I Go To I
Find what: I =]
Replace with: I _VJ
More ¥ I I I ’—l Cancel I
A) Fere o 0 Tee #i Refie Fed |
B) e &l gar #
C) 9% &l Jgaq §
D) T3 T g ST aaad H
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109) Main Memory of a computer is also called as what?

A) External Memory
B) Primary Memory
C) Cache Memory

D) Secondary Memory

110) Which type of memory is used when the search time

is very critical and short?

A) Cache memory
B) Virtual memory
C) Internal processor memory

D) Associative memory

111) K-Map can be used to simplify the
A) Min Term
B) Max Term

A) Neither A nor B
B) Both A and B
C) Only A
D) Only B

112) What is a collection of interrelated data and a set of

programs to access to those data?

A) Computer Network
B) Class
C) Database Management System

D) Data structure

109) Fe it 79 HHET & o= Toh 918 & ot SIe7 S[1av 872

A) T AT
B) WTEHLT AHIET
C) et HHILY

D) Feher FHET

110) TS FT g THTEATHT ST BIeT g T¢ Th T THIT AT
HHIET &1 ITTRT AT 1T 872

A) T FHETLT

B) a=erer HHILT

C) Ze¥Ae TTHHT HAT
D) srETfRufes FHET

111) K-AT &7 ITANT 38 Aetiehd &7 & oIy 3ham S aear

g2
A) foe =
B) # =H

A) TETASTTE B
B) A =T B a1

C) ¥ A

D) *Fa« B

112) TTFIR HaE ST ¥ I T2 aF TgA & (70 T % TH
He o UF g HI FT Fgl AT 8?2

A) FHET qEaT

B) FATH
OECEEREEECATI
D) 22T FaaT
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113) What is a stack? 113) U T F97 52

A) A stack is a non-linear list in which insertion and A) TF ¥ F UH T-L10a g1 ¢ orad s et 9 wae=
deletion takes place at the different ends A ForeTro g &

B) A stack is a non-linear list in which insertion and B) @éfwﬁ_{' rfe et & Frers serer ofre e v
deletion takes place at the same end R LIE )

C) T ¥ % W ek AT 2 o qeer A et o

C) A stack is a linear list in which insertion and deletion ST HEATE

takes place at the same end D) e ¥ & U w g g S ffee R a7 yaew s
e grar &

D) A stack is a linear list in which insertion and deletion

takes place at the different ends

114) Which of the following values are valid with respectto  114) HTML & 'div' 237 % sreTe+ Ufgsge & dae # Aaforfea o

align attribute of ‘div’ tag in HTML? I °T qT9 AT g2
(i) Left (i) artt
(i) Center (ii) e
(iii) Right (III) E‘I"i
A) (i), (i) 3 (i)
A) (i), (ii) and (ii
) (). (1) and (1) B) e (i) 3 (iii)
B) Only (i) and (iii
) Only () and (i) C) 4 (i) 3 (ii)
C) Only (i) and (ii)
D) &t (ii) ¥ (iii)

D) Only (ii) and (iii)
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115) What would be the resultant value after executing the
function =COUNT(C3,C4) as shown in the following
image?

Cch v A =COUNT(C3,C4)
A , B C D
1
2
3 789
4 456
| 5 |
L ]
3
A)0
B) 2
C) 1245
D) 1

116) If you want to take input of multiple values in flow
chart we use

A) Parallelogram
B) Diamond

C) Rectangle

D) Circle

117) Popping an element from the stack means:

A) Sorting the elements in the stack
B) Adding a new element to the stack
C) Removing an element from the stack

D) Searching a given element in the stack

115) Frerferfera afa ¥ s, W =COUNT (C3,C4) #1
e e & e aforrHT 9T T e

C5 v A =COUNT(C3,C4)
A | B C D
1
2
3 789
4 456
| 5 |
1 |
B
A0
B) 2
C) 1245
D) 1

116) I AT FATATE H THTTEF TF FT SIS 4T AT2d @ af
TRt ST 47?2

A) FHTAT I
B) favast
C) s

D)

117) T & Tlr¥e T TATOT(FETAT) F4T ZraT 872

A) T | uferiz it gars

B) ¥ ® T AT UierdeE SirEAT
C) ¥ ¥ U Uferde 7 gt

D) ¥ § faw rw uferde &t @rer
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118) Which of the following denotes the interconnection of

118) fHwrforfea & & 1 |7 991 § "erw fRareai F ¥ &

a set of devices capable of communication? TITERAFAT B2
A) Network INBECED

B) Channel B) =9t

C) Medium C) Hifeaw
D) Bus D) sq

119) Which symbol represents start or end of flow chart?

119) Fi= A7 =g TA=TE & J[EATT AT THTIH AT I9AqTAT 872

A) Oval

) INEEERS
B) Triangle B) et
C) Square C) =
D) Rectangle D) sraa

120) In HTML, what kind of list will <ol> tags create? 120) HTML #, <ol> &7 f3er werr it foree s=miar?

A) Grocery List A) T fore
B) Symbol List B) fiaer foree
C) Ordered List C) &iEs foree

D) Bulleted List D) FeteT foree
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121) For the E-R diagram given below, what is the

cardinality ratio for E2:E1?

E] 1 /R\\/N =

A) N:N
B) 1:1
C) N:1
D) 1:N

122) Operating system uses the concept of queue in which

of the following tasks ?

I. When executing a number of processes.
Il. In case of task implementation with respect to a
hardware device.

lll. In case of threading concept.

ALl
B) Only Il
C) Il, 1l
D) I, 11, 11l

123) The goal of Artificial Intelligence does NOT lie in

A) Implementing human intelligence in machines

B) Developing systems that understand, think and learn

like humans

C) Moderating human nature and habits to make them

more sophisticated

D) Creating systems which exhibit intelligent behaviour

121) #1= faw 1w E-R s & forw, E2: E1 & forg srfEaferdy
ST FAT 872

E] 1 @N 2

A) N:N
B) 1:1
C) N:1
D) 1:N

122) AT foeew # it e i1 U 49 # & e
FTH | FTAT 872

|. =% wieraeRt 1 Ao w3 g9
Il T FTITaTT % ATHA | TF eI 2T F Hae |
1. 2rfST ST & 919 ¥l

A) 11l
B) ¥ Il
Cy I,

D) I, 11, 1l

123) FEW FREHAT FT q&T FT Tl 67

A) WAt § AT FigATT FrATfead HAT

B) UHT freewt #r fasfia AT S 7sat ft avg "6,
qr= i " 8

C) WA THfa AT el 1 HAHT T Ieg AferF ahega
FATAT

D) T ZTag Tafda ¥ arer fEees aamEr
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124) In which of the following notations of expressions the

operator comes before the operands?

A) Priority
B) Infix
C) Postfix
D) Prefix

125) What is an array?

A) Array is a collection of different type of elements
B) Array is a collection of dynamically allocated elements

C) Array is a collection of different data types placed next
to each other

D) Array is a collection of similar type of elements

126) Which of the following devices is used to send and
receive computer information over a telephone line or high
speed cable?

A) Scanner

)

B) Printers
C) Mouse
D) Modem

127) If computers in a LAN are connected along a single

cable then the name given to such a topology is

A) Bus topology

B) Star topology

C) Mesh topology

D) Hierarchical topology

124) 35 § T &1 H7 U9 F AT H AT AU F
TE AT 52

INERUEG
B) =
C) Trefthe
D) forftrerr

125) T < 7 872

A) 9= w1 & Tl FT UF EUg AL B

B) witefter strafed qeat &1 U 998 9 §

C) U& A & i # 7@ At a7 T 7 UF §3g 3 8
D) Tcat % THTH THTT FT UF TUg AL 8

126) T AT AT IF A A T FET AAT T 3T
T F2 & foro Feterfera o & e SoeReor &1 ST R

STAT 872
A) THAT
B) fifewt
C) ursH
D) AIsW

127) af Fge¥, UF LAN H UFHA Fad & §79 2 gId & af 29
TG & ettt &l 3T =T 919 =7 82

INEGEARIEIE
B) ¥=T< ErqIaAlSIT
C) JeT ararertstt
D) BT haer arqretst
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128) From where does the indexing of an array start? 128) TF ¥ T SSTHET(ATHA) Fgl § & grar 82
A) -1 A) -1

B) 0 B) 0

C) 1 C) 1

D) 100 D) 100

129) Which of the following HTML code is not valid? 129) fRwrferferd ® & i a1 HTML 12 & 781 22

A) < frameset cols="100,150"> A) < frameset cols="100,150">

B) < frameset width="16%,84%"> B) < frameset width="16%,84%">

C) < frameset rows="16%,84%"> C) < frameset rows="16%,84%">

D) < frameset columns="16%,84%"> D) < frameset columns="16%,84%">

130) What kind of codes does K-maps adjacent cells hold?  130) K-8 & sT&s Hat § {oFT TH1T & IS BId 872

A) Plane binary A) T TS

B) Hamming code B) gfir are

C) Cyclic Redundancy Code (CRC) C) arsfaara fEHt #ig (CRC)

D) Gray code D) I Fre

131) Print-device resolutions are measured in 131) fife-fRarew YSireges 1 o T & 9797 S[TaT 87
A) Dots per inch A) Tleg T A

B) Bits per inch B) fem wx 39

C) Pictures per inch C) e i

D) Images per inch D) T8 TT 37

Page420f52



Setld : 51358_11

Downloaded From : www.sforstudy.in

Computer Operator 21-12-2018 Batch02

132) Which of the following are secondary storage
devices?

I. Hard Disk

Il. Floppy Disk

. RAM

IV. Compact Disk

A) I, Il and IV only
B) II, lll and IV only
C) I, Il and IV only
D) I, I and Il only

133) In an ER diagram, which of the following can be used

to define a relationship?

A) A line with label joining two boxes (entities) or a

diamond symbol
B) A line joining two entities with a circle on it
C) A circle between two boxes (entities)

D) Labeled boxes

134) The World Wide Web (WWW) is an information space
where documents and other web resources are identified

by

A) Universal Resource Links
B) Uniform Restful Locators
C) Universal Resource Locators

D) Uniform Resource Locators

132) fRferfed § & i |7 Fhel TS 9129 872

. g1e fee=

II. weArdT e

IIl. RAM

V. FiFiFe fTFw

A) FaA |, 1l 37T IV

B) Fa= I, Il 3fi% IV
C) Faa I, lll s IV
D) et I, I, T 1l

133) U ER 3@ |, Ha¢ T IATNT e & forw fAfortea
H & foreet ST Rt ST TRt 872

A) = Tt (Tfed) a1 v ST g i SiEdT U a9
Exen

B) a1 Ufedt® & St UF @ e 307 UF g &
C) =1 oy (dfedie) & 9 kg
D) “raerde A

134) ae€ Atz a9 (WWW) T =41 fEedme g gt aearasit
S T A TETLAT hT TgAT fohereh gTer T vt 87

A) IiHawe fam e
B) IHIT Yeape ATehes
C) A=« FETd Arshed
D) FfArwie et wirehest
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135) Which of the following is the fastest mediums for
network communication?

A) Coaxial cable

B) Fibre optic cable
C) Twisted pair cable
D) Radio cable

136) Which of the following is a valid datatype in
JavaScript?

A) Float
B) String
C) Real

D) Word

137) Derived attributes in the E-R Diagram is represented
by means of

A) Dashed Ellipse
B) Solid Ellipse
C) Double Ellipse

D) Diamond-Box

138) Which of the following is NOT a valid Relational
Operation?

A) CARTESIAN PRODUCT
B) INTERSECTION

C) UNION

D) DELETE

135) far § & I |7 Feas F= * oy Fa8 I 71279 272

A) FTTTFIT Faret
B) wrza #fiftas Fae
C) fRawes T9% Faa
D) ¥R et

136) STaTiese ¥ fAeferferd & & i a7 U Jor 321ereT 22

A) T
B) f&w

C) f==r
D) 7%

137) E-R 0@ § Scqe U1 H1 e ATETH & 2A<h (641 ST1am
22

A) 29T Ufereq
B) &ffere wfers
C) =9 uforH

D) STHHE-aid

138) Mfertd & & #19 |71 U 417 Reteme Arqver Tgf 87

A) CARTESIAN PRODUCT
B) INTERSECTION

C) UNION

D) DELETE
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139) From, To, Date and Subject fields in an email are

called as

A) Email header
B) Email greeting
C) Email info

D) Email starter

140) Which of the following type of scanner reads

characters with the help of a light?

A) Optical Barcode Recognition
B) Optical Mark Recognition
C) Optical Character Recognition

D) Magnetic Ink Character Recognition

141) How many audio and video streams can be handled
by HDMI?

A) 2 video, 2 audio

)

B) 1 audio, 1 video

C) 2 audio, 1 video
)

D) 1 video, 2 audio

142) Which of the following sentence is FALSE about Main
Memory?

A) Main memory is faster than secondary memories
B) A computer can run without main memory
C) Main memory is working memory of the computer

D) For Main memory, Data is lost in case power is

switched off

139) Foreft S8er % Wi, 2, T2 3w Heorde Fegq AT F#47 Fgl
STt 872

A) T g
B) T wifew
C) $H 37T
D) $He TeTex

140) Ferferfera o & e Tt T TRaT STeT<0 T TehTer i 7eS
q 9EAT 872

A) stfeasre arere Rafirem
B) sfiftasher oreh Rl

C) sttfeasher hieet Rafyre
D) #ufem 3% e Ranfiee

141) HDMI ZT=T ot SifeaT ST AT =40 Fred ST #ehel
g2

A) 2 Fifea, 2 sfear
B) 1 wifeam, 1 Sifzar
C) 2 =iz, 1 fifew
D) 1 #ifz=m, 2 sitfe=r

142) Feforfad § & #1997 919 99 A9ET & a7 H TAd 872

A) FHE FHE A AT H AT HEET I FAN B
B) U FTeT A WHILT # fodT1 91 91 &

C) B9 A e & afdr A9y gl §

D) #7 HHIT % forw, fasefl 98 9 W ST SE AT &
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143) What is the simplified form of the logic 143) (A+B}(A+B ) iR wis 71 ATATRT 9 FAT 27
expression (A+TENA+E) 9
A) 7

A) 7 B) A

B) A C) 0

C)o D) A

D) A
144) What is the type of the expression 2 + 3 * 4? 144) T 2 + 3 * 4 FT TR FAT 82
A) Prefix Expression A) T Taaser

B) Infix Expression B) sfeme T

C) Priority Expression C) yadt weEers

D) Postfix Expression D) TreafthaT TaTer

145) What is the size of the destination address in a data ~ 145) S9¥A< & U T K7 | =T T T ATHTL a1 2raT 872
frame of Ethernet?

A) 4 IT32H
A) 4 bytes B) 10 aTzeH
B) 10 bytes C) 6 aTged
C) 6 bytes D) 8 arze®
D) 8 bytes

146) If you have to implement an 'if..else' construct in a 146) 7T ATTHT FATATE § UH 'if..else’ FegFe FT

flow chart, the symbol to be used is FTeAT FAT 2, A1 7 =g &1 STarRr grm?
A) Diamond A) feavast

B) Parallelogram B) AT TSt

C) Oval C) et

D) Arrow D) ¥
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147) What happens when an attempt is made to read an
element from an empty queue?

A) Underflow
B) Queuefull
C) Onflow

D) Overflow

148) Which of the following HTML code is used to create a
list using lowercase letters?

A) <ol type="a">
B) <ol case="'a">
C) <ol letter="a">

D) < OI llall>

149) Karnaugh map's input values must be ordered such

that the values for adjacent columns vary by:

A) 3 bits
B) 4 bits
C) 1 bit

D) 2 bits

150) Which of the following function/operation is done by
Microphone device?

A) Draw lines or figures on a computer screen
B) Reads bar codes and coverts them into electric pulses

C) Detects alpha numeric characters printed or written on
a paper

D) Convert human speech into electric signals

147) FT EIAT & 5Ta UF GTeil 7 & Uferde T 757 1 570
BRIV

A) F=ETHRT
B) F&T

C) aAtwT
D) sfraTwetr

148) fReferfera & & 19 77T HTML 1S S5 &7 T TI1T
Feh GAT AT o ToIT ITANT F36AT 1T 372

A) <ol type="a">
B) <ol case="'a">
C) <ol letter="a">

D) < Ol llal|>

149) FTHT {7 5 IAYE WA 3H qIg FUT [T S ALY %6
AT FIAH F AH H

A) 3 fae &7 siqe g
B) 4 far= T siq¥ grm
C) 1 fae 1 sia< grm
D) 2 fa= T sfa¥ g

150) ATSHIE I 517 Fafefed & § 19 a7 F/F=raT
BRIV

A) FTIET BhIF I T@TU IT 6T a7

B) AT T &l TEAT 3T Srg (a2[d qeail § Tieafad wear
C) TS 9 {iad AT fora seA7i=hir STer<i 1 qaT v m=m
D) 5T aTq-=1q & faed T § afatad fear
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151) Which memory isn't accessed directly by the CPU, 151) CPU 31T o H¥TET T #Ter SUART A5l 3T SI1aT 8
instead, data accessed from this memory is first loaded into  Z& ST, TH AHILT & ITH 22T T8 RAM # FTE gIaT g 3T

RAM and is then sent to the processor? T TrEEe T AT ST 87

A) Secondary memory A) T 7T

B) Volatile memory B) aTeierse AHIET

C) Primary memory C) w1 FHIY

D) RAM D) RAM

152) Secondary memory is also known as? 152) Fehedt A9 g e 919 | A7 ST S1ar g2
A) External memory A) T AT

B) Cache memory B) er AHTEY

C) Internal memory C) e AHIY

D) Primary memory D) wr=a<t g9t
153) What is the significance of the tool shown in the 153) fwrferfea o # famamy 10 2 %1 F41 7gea 82
following figure? i. TEITCHE 32T &l Fed 79 | FHdG HLAT
i. Sort numeric data in descending order ii. STEATTCHF 22T &l Ted HF | FHAEF HLAT
ii. Sort alphabetic data in descending order i, STEATTRTT 22T T T2d 70 | FHAG FLAT
iii. Sort alphanumeric data in descending order iv. HEATCH® 22T &l 92d FF H HHdg HedT
iv. Sort Numeric data in ascending order

it it
A A

A) ii, iii, iv A) ii, iii, iv
B) i, ii B) i, i
C) i, iii, iv C) i, iii, iv
D) i, ii, iii D) i, ii, iii
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154) What is the intersection of a row and a column in MS ~ 154) MS T#e | T I 3T U FHleTH F ST T FAT Fgl

Excel called? STt 872

A) a field A) TF e
B) data B) =T

C) an equation C) T# T
D) a cell D) TF &

155) Which of the following options is used as a short cut ~ 155) MS - 98 UTATsheId H T greu<ieis Sire & forw

for adding a hyperlink in a MS - Word applicaton? FHTTET & § F & fawen 1 0 ofhe F =7 § g7
STAT 872

A) Ctrl + S
A |

B) Ctrl + K ) Ctrl + S

C) Ctrl + H B) Ctrl + K

o) Gt + O C) Ctrl + H
D) Ctrl + O

156) Which of the following is the CORRECT form for an e- 156) T# 2-#d Ud & forw Aerfered & & i a1 981 9 82
mail address?

A) ramesh:coldmail.com

A) ramesh:coldmail.com B) coldmail.com@ramesh

B) coldmail.com@ramesh C) ramesh@http://www.coldmail.com

D) ramesh@coldmail.com
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157) Study the screen shot given below: 157) = {2 70 SR ot &7 sreaa+ i3
Font EE Fort 2] X [
Fonk | Cha[actgr,Spacrrg_| Animation [ Fonk I Zharacter Spacirg N Animation I

Fark: style
iReguIar

Fant: Fort style
10 !Re;ular

i :;Olor: Undetlirne:
!(noﬁe) L! |. Ak Ll I(none)
Efects E
[ Stikethroudh ™ Shadow I Swall caps. Eferts Y
I Double strikethrough ™ cCutlire I llcaps I™ Stikethrough [™ Shadow I Sreall caps
I~ Sipetscept I~ Enhoss I Hidden [ Doubke strikettrough [~ Qutlire I allcaps
I Stbscript [~ Erareve [~ Supetscrpt [ Enboss I Hidden
Presiiew I™ Stbscript [~ Ergrave
Preview

Times Haw Romay
Times N2w Romaa

This iz & “ruaType Fent, This Fane will b used oo beth printer and soveen,

; ; : g : This iz a “rueTyge fent. This fork wil be used o3 beth printer and s:reen,
To display a number like %, the user needs to use which of the following options? R

A) Strikethrough 25 Sy wrere o1 =TS Fv ¥ Py ST v e & B B wr s
B) Superscript A T AT 22
C) Double strikethrough
D) Subscript A) T
B) guifeae
C) =9 &1
D) Hafewte

158) What is the name given to hierarchical naming system 158) T 9¥ & Tede & T2 FHl &l @ISl 91 & 2T F

for computers connected to the Internet for locating them — TIHT TRTIHHT ATHHLOT TUITEAT T FAT ATH [&FT T4T 872
worldwide?

A) Zexee FfHT e
A) Internet Naming System B) =ma ¥ ffreaw
B) Domain Name System C) At freew
C) Naming System D) #Fwges °H ffeen

D) Computer Name System
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159) What does VGA stand for?

A) Vector Graphics Association

B) Video Graphics Association

C) Vector Graphics Array

D) Video Graphics Array

159) VGA T 07 &9 FT raT 872

A) FFT QTR TETTRUIE
B) =z arftrerr wenfiuers
C) ¥ TR oY
D) fife= arfrer s

160) Which of the following are the types of alignments 160) MS 7= ® fFwferfad # & uarsade & e T it srqafa

allowed in MS Word?

a) Left align
b) right align
¢) center align
d) Justify

A) bandc

B) c,aandd
C)a,b,candd
D)aandd
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Answer Key
1 B 41 A 8l A 121 C
2 C 42 C 82 B 122 D
3 D 43 C 83 D 123 C
4 B 4 D 84 B 124 D
5 A 45 C 85 Nullified 125 D
6 C 46 A 86 D 126 D
7 B 47 C 87 C 127 A
8 B 48 B 88 B 128 B
9 C 49 D 89 D 129 D
10 B 5 D N A 130 D
11 D 51 C 91 B 131 A
12 B 52 C 92 D 132 A
13 B 53 B 93 C 133 A
14 B 54 A 94 C 134 D
15 B 55 A 9% D 135 B
16 C 5 C 9% D 136 B
17 A 57 D 97 A 137 A
18 C 58 D 98 A 138 D
19 B 5 C 9 B 139 A
20 A 60 C 100 A 140 C
21 D 61 B 101 D 141 B
22 B 62 B 102 B 142 B
23 A 63 D 103 A 143 B
24 B 64 D 104 B 144 B
25 B 65 D 105 C 145 C
26 B 66 A 106 D 146 A
27 A 67 B 107 B 147 A
28 C 68 A 108 D 148 A
29 C 69 C 109 B 149 C
30 D 70 A 110 D 150 D
31 B 71 B 111 B 151 A
32 A 72 B 112 C 152 A
33 B 73 B 113 C 153 D
34 B 74 B 114 A 154 D
35 C s A 115 B 155 B
36 B 76 A 116 A 156 D
37 A 77 D 117 C 157 B
38 D 78 D 118 A 158 B
39 C 79 C 119 A 159 D
40 D 80 D 120 C 160 C
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